Math 1104 - Multiple Choice Review - April, 2006

a —b c 10 1 8. Consider
L.LeteA=| b ¢ —a|landB=|0 1 1 21— 523 + 203 = 0
B b 110 1+ T2+ 8x3=0
& 8 —xy + 3wy — 4z = 0.
What is the second column of ATB? What is the general solution of the above system of linear equations?
b+e a—c a+b b—c ¢ ¢ ¢ 7t
a) |a—c| b)|a=b| c)| =bt+c| d)| a+c a) | Tt |,teR b)| —Tt |, teR ¢) | —t |,.teR d)| —t|.teRr
a—2b c+b —a+c —a+b t —t Tt t
k5 7 9. Let T: R'3 — R® be a linear transformation such that
2. Let A= 2 0 1 |. For which value of k is the matrix A not invertible? 4
010 and T ) [ 3 ]
a)ld b)10 c) 7 d) —10 1
R ' Q 1
3. What is the standard form of the complex number T e lat is T 1 +2|0||=?
1 1
3 11, 3 11 . 3 11 : .
V"1 P Yot VTR 10 14 14 14
a) b) | 14 c) | 10 d) | 10
ab ¢ 14 10 10 14
4. LetA=|d e f|andB= (
i e+ 3h f + 34 10. Let A be a 3 x 3 matrix with the characteristic polynomial p(A) = A(A +4)(A —5).
Exactly one of the following statement is FALSE. Which one?
If det, d
a) Each eigenspace of A is one-dimensional.
b) A is not invertible.
—12
b) 8 )t SR ¢) A is diagonalizable.
o A ) . . d) The equation Az = b is consistent for every vector b in R®.
5. Let T': R° — R* be the linear transformation given by
- L1+ Ty — T3 11. Exactly one of the following is NOT an elementary matrix. Which one?
. o P
T T2 = T . 001 100 001 1 00
T3 'Tl '%_3 a0 10| By|o1ro|l e¢fo1al d|-410
273 1 00 005 700 001
Which one of the following statements is TRUE? ’ '
] ) T4 =57
12. What are the eigenvalues of the matrix { 1 0 ] ?
a) T is one-to-one and onto. N 1o I )
b) T is one-to-one but not onto. A) M =142 0 =1 -2 YA =24 dg =21
¢) T is onto but not one-to-one. c) Al =20, Ag=—2i d) M =342, Ay, =3-2
d) T is neither one-to-one nor onto.
a+b
- b+¢ b . . o T
6. TF » — \/§ 1 i. what is the standard form of 2307 13. Let H = ctd a, b, ¢, d € R}. What is the dimension of the subspace H7
c+d
a) 20 b) —i2*0 ) —2%0  q) ¥
a)l b) 2 c)3 d) 4
7. Let A =5 be an eigenvalue of a 3 x 3 matrix A. ) Ay
= B=-3: 5 =—-6t (A~ e
Exactly one of the following statement is TRUE. Which one? 14. lidet A=2, det B Jand detC 6 then, what is det(A™5°C")
a) 18 b) —18 ¢) 27 d) —27
a) det(A—5I)=0
b) det(A —5I) # 0 o .
¢) Az =5z for all z in R®. 15 I A— { 1 ﬂ { 7(1) El) } { } é } what is 41077
d) The equation (A — 5I)z = 0 has a unique solution.
-3 2 3 2 4 3 3 -2
a) {74 3} b) {4 3} ©) {3 2} 9 {4 73}
. 1 1
Solutions: 16. What is the le bet the £ . d 01,
. vhat 1s the angle between e vectors r = and y = !
1.d 2.a 3.b 4.a 5.b 6.c 7. a 8.d 1 é
9.b 10.d 1l.c 12.b 13.¢c 14.d 15.a 16.c
a) m/2 b) /3 c) w/4 d) 7/6




